‘Rack Mountable (RM Series)
W
E ® ®
o
0 le o
s
_k

) ) L

ASSEMBLY - VIEW FROM TOP
HANDLE

MOUNTIN
HOLE

[

3

ASSEMBLY - VIEW FROM FRONT

—— P

I o °
" e :

ASSEMBLY - VIEW FROM SIDE

For complete drawing information link
here to our website covering this series.

FEATURES

« Strong construction - yet light weight using all aluminum components.
* Suitable for desk top or rack mountable applications.
¢ Available with solid top & bottom panels or ventilated to allow natural air convection.
* Choice of three heights - 1.75” (1U), 3.50” (2U) or 5.25” (3U).
* Choice of three depths - 8.0” (203 mm), 13.0” (330 mm) or 18.0" (457 mm).
« Designed for easy assembly & disassembly.
* Shipped knocked down to avoid shipping damage.
* Strong construction using:
- extruded aluminum side panels 0.125” (3.2 mm) thick
- extruded aluminum front & rear panels (0.125” (3.2 mm) thick
- flat aluminum top & bottom panels 0.064” (1.6 mm) thick
» Can be used with or without rack mounting brackets (included).
* Front & rear panel are interchangeable.
¢ Includes top, bottom, sides, self-adhesive rubber feet, rack mount brackets and all assembly hardware.
* Pull handles & rear bracket kit for deeper 18.0” (457 mm) models are not included with the unit (see tables).
* Stocked in a durable textured black powder paint finish.

EUROPE
Basingstoke, UK 01256 812812

1 O CANADA
‘H Guelph, Ontario (519) 822-2960

M/M/M/,/?
A m
St. Laurent, Quebec (514) 343-9010 0/70:/77
9. Con,

w USA AUSTRALIA
© Cheektowaga, NY (716) 630-7030

Queenstown SA, Australia 61-8-8240-2244



Rack Mountable (RM Series)

Solid - Top & Bottom Panels

Panel Height Overall Dimensions Accepts Pull Rear _l
Part Number Weight Handle Bracket Kit Y]
Inches | Units Width Depth Part Number Part Number E
RM1U1908SBK 1.75 1U 16.6” (421 mm) 8.0" (203 mm) 3.5# (1.6 kg) 1427B2BK - @
RM1U1913SBK | 1.75 | 1U | 16.6" (421 mm) | 13.0" (330 mm) | 5.0# (2.3 kg) 1427B2BK - —
RM1U1918SBK | 1.75 | 1U | 16.6" (421 mm) | 18.0" (457 mm) | 6.0# (2.7 kg) 1427B2BK | RM1U18BRKT o
RM2U1908SBK 3.50 2U | 16.6" (421 mm) | 8.0" (203 mm) 4.6# (2.1 kg) 1427E1BK - ©
RM2U1913SBK | 3.50 | 2U | 16.6" (421 mm) | 13.0" (330 mm) | 6.5# (3.0 kg) 1427E1BK -
RM2U1918SBK 3.50 2U 16.6" (421 mm) | 18.0" (457 mm) 7.8# (3.5 kg) 1427E1BK RM2U18BRKT
RM3U1908SBK | 525 | 3U | 16.6" (421 mm) | 8.0" (203 mm) 5.6# (2.5 kg) 1427P1BK -
RM3U1913SBK 5.25 3U 16.6” (421 mm) | 13.0” (330 mm) 7.9# (3.6 kg) 1427P1BK -
RM3U1918SBK 5.25 3U | 16.6" (421 mm) | 18.0" (457 mm) | 9.5# (4.3 kg) 1427P1BK RM3U18BRKT
Ventilated - Top & Bottom Panels
Panel Height Overall Dimensions Accepts Pull Rear
Part Number Weight Handle Bracket Kit
Inches | Units Width Depth Part Number Part Number
RM1U1908VBK 1.75 1uU 16.6” (421 mm) 8.0” (203 mm) 3.5# (1.6 kg) 1427B2BK -
RM1U1913VBK 1.75 1U | 16.6" (421 mm) | 13.0" (330 mm) 5.0# (2.3 kg) 1427B2BK -
RM1U1918VBK 1.75 1U 16.6" (421 mm) | 18.0" (457 mm) 6.0# (2.7 kg) 1427B2BK RM1U18BRKT
RM2U1908VBK 3.50 2U 16.6" (421 mm) 8.0" (203 mm) 4.6# (2.1 kg) 1427E1BK -
RM2U1913VBK 3.50 2U 16.6" (421 mm) | 13.0” (330 mm) 6.5# (3.0 kg) 1427E1BK -
RM2U1918VBK | 3.50 | 2U | 16.6" (421 mm) | 18.0" (457 mm) | 7.8# (3.5 kg) 1427E1BK | RM2U18BRKT
RM3U1908VBK 5.25 3U | 16.6" (421 mm) | 8.0" (203 mm) 5.6# (2.5 kg) 1427P1BK -
RM3U1913VBK 5.25 3U 16.6" (421 mm) | 13.0" (330 mm) 7.9# (3.6 kg) 1427P1BK -
RM3U1918VBK 5.25 3U 16.6" (421 mm) | 18.0" (457 mm) 9.5# (4.3 kg) 1427P1BK RM3U18BRKT

RM SERIES ACCESSORIES

Tilt Bail

» Used as a tilt bail and/or carrying handle.
 Requires drilling only four mounting holes into the sides of the enclosure.
« Includes all mounting hardware, instructions and drilling template.

« 12 detent positions.
» Extruded handle is black anodized aluminum and pre-cut to fit all “RM” enclosures.
« Side section pairs of bail are molded from tough black polycarbonate.

» Enclosure not included (see above).
» Part Number 1427BAILKIT2

Replacement Hardware

Part Number Description Used For
RM632SC100BK 100 pack of 6-32 x 3/8” self tapping screws Side panel assembly
RM440SN100BK 100 pack of 4-40 speed nuts Top & bottom panel assembly
RM440MS100BK 100 pack of 4-40 machine screws Top & bottom panel assembly

RM1032MS100BK 100 pack of 10.32 machine screws Rack mounting braket assembly
EUROPE CANADA

Basingstoke, UK 01256 812812 Guelph, Ontario (519) 822-2960
St. Laurent, Quebec (514) 343-9010
USA

Cheektowaga, NY (716) 630-7030

Mll
.

AUSTRALIA

WW’/V./7
am
Mo
g,
Nty -
‘Lo
Queenstown SA, Australia 61-8-8240-2244 m



DETAIL OF RACK
> MOUNTING
BRACKETS
TYPICAL EACH

FEATURES

« Perfect for rack mount or table top applications or both!
 Uses all machine screw & PEM nut construction, perfect for applications where repetitive assembly & disassembly are
required.
« Shipped knocked down to avoid shipping damage.
« Light weight design - all aluminum for easy modification. Example: the (RMCS190313BK1) - 19" rack mountable unit
shown above weighs only five (5) pounds (2.3 kg).
« Strong design construction using:
- 0.125” (3.2 mm) thick side panels & rack mount brackets
- 0.064” (1.6 mm) thick front & rear panels
- 0.062” (1.58 mm) top and bottom panels
« Can be used with or without rack mounting brackets (included)
 Front and rear panels are interchangeable.
 Top & bottom panel are symetrical - ventilation (on RMCV series) can be in front or rear of enclosure
« Includes top, bottom, side panels, front & rear panels, rubber self-adhesive feet, rack mount brackets and all hardware.
- Easy internal access, as only four (4) screws need to be removed from any of the six (6) panels.
» Enclosure is finished in rugged satin texture, black powder paint.
« Internal aluminum chassis panel (alodine finish) is optional (see table).
 Holes provided for bottom mounting of chassis panel.
* Available in both 19” rack mount and half width versions.
* Available in both vented and unvented versions.
* NOTE: optional chrome handles will block rack mounting area.

For complete drawing information link
here to our website covering this series.

12 CANADA W“/M/ EUROPE
‘H Guelph, Ontario (519) 822-2960 '/7a/77/ Basingstoke, UK 01256 812812
St. Laurent, Quebec (514) 343-9010 770/70:,77
w USA 9.co, AUSTRALIA
© Cheektowaga, NY (716) 630-7030 n Queenstown SA, Australia 61-8-8240-2244



Rack Mountable (RMCS & RMCV/Sfiés)!

19” Rack Mountable (Solid - Top & Bottom)

Panel Height Overall Dimensions Inside Height Accepts Pull Aluminum —|
Part Number Clearance With Weight Handle Chassis juh]
Inches | Units Width Depth Chassis Installed Part Number | Part Number | |
RMCS19018BK1 | 1.75 | 1U | 17.0" (432 mm) | 8.0" (203 mm) 0.81" (21 mm) 3.0# (1.4 kg) - RMP1908 @
RMCS190113BK1 | 1.75 | 1U | 17.0" (432 mm) | 13.0" (330 mm) 0.81" (21 mm) 3.54# (1.6 kg) - RMP1913 —]
RMCS19038BK1 | 350 | 2uU | 17.0"(432mm) | 8.0” (203 mm) 2.56" (65 mm) 5.0# (2.3 kg) 1427P RMP1908 o
RMCS190313BK1| 350 | 2U | 17.0" (432 mm) | 13.0" (330 mm) 2.56" (65 mm) 6.0# (2.7 kg) 1427P RMP1913 O
RMCS190513BK1| 525 | 3U | 17.0"(432mm) | 13.0" (330 mm) | 4.31" (109 mm) | 7.0# (3.2 kg) 1427N RMP1913
RMCS190713BK1 | 7.00 14U 17.0" (432 mm) | 13.0" (330 mm) 6.06" (154 mm) 8.1# (3.7 kg) 1427M RMP1913
RMCS190813BK1 | 8.75 5U 17.0" (432 mm) | 13.0” (330 mm) 7.81" (198 mm) 9.0# (4.1 kg) 1427M RMP1913
RMCS191013BK1| 1050 | 6U | 17.0" (432 mm) | 13.0" (330 mm) | 9.56" (243 mm) 9.3# (4.2 kg) 14271 RMP1913
RMCS191015BK1| 10.50 6U 17.0" (432 mm) | 15.0" (381 mm) 9.56” (243 mm) 10.1# (4.6 kg) 1427L RMP1915
19” Rack Mountable (Ventilated - Top & Bottom)
Panel Height Overall Dimensions Inside Height Accepts Pull Aluminum
Part Number Clearance With Weight Handle Chassis
Inches | Units Width Depth Chassis Installed Part Number | Part Number
RMCV19018BK1 1.75 1U 17.0” (432 mm) 8.0" (203 mm) 0.81" (21 mm) 1.9# (0.9 kg) - RMP1908
RMCV190113BK1 | 1.75 1U 17.0" (432 mm) | 13.0” (330 mm) 0.81" (21 mm) 4.5# (2.0 kg) - RMP1913
RMCV19038BK1 | 350 | 2uU | 17.0"(432mm) | 8.0" (203 mm) 2.56" (65 mm) 3.6# (1.6 kg) 1427P RMP1908
RMCV190313BK1| 350 | 2U | 17.0" (432 mm) | 13.0" (330 mm) 2.56" (65 mm) 5.81 (2.6 kg) 1427P RMP1913
RMCV190513BK1| 525 | 3U | 17.0"(432mm) | 13.0" (330 mm) | 4.31" (109 mm) | 7.0# (3.2 kg) 1427N RMP1913
RMCV190713BK1 | 7.00 44U 17.0" (432 mm) | 13.0" (330 mm) 6.06" (154 mm) 6.3# (2.9 kg) 1427M RMP1913
RMCV190813BK1 | 8.75 5U 17.0" (432 mm) | 13.0” (330 mm) 7.81" (198 mm) 8.0# (3.6 kg) 1427M RMP1913
RMCV191013BK1| 10.50 | 6U | 17.0" (432 mm) | 13.0" (330 mm) | 9.56" (243 mm) 9.2# (4.2 kg) 14271 RMP1913
RMCV191015BK1| 10.50 | 6U | 17.0" (432 mm) | 15.0" (381 mm) | 9.56” (243 mm) | 11.0# (5.0 kg) 1427L RMP1915
Half Width - Rack Mountable (Solid - Top & Bottom)
Panel Height Overall Dimensions Inside Height Accepts Pull Aluminum
Part Number Clearance With Weight Handle Chassis
Inches | Units Width Depth Chassis Installed Part Number | Part Number
RMCS9018BK 1 175 | U | 85" (216 mm) | 8.0" (203 mm) 0.81" (21 mm) 0.6# (0.3 kg) - RMP908
RMCS9038BK 1 350 | 2U | 85" (216 mm) | 8.0" (203 mm) 2.56" (65 mm) 1.8# (0.8 kg) 1427P RMP908
RMCS9058BK 1 525 | 3U | 85"(216 mm) | 8.0" (203 mm) 431" (109 mm) | 3.3# (1.5 kg) 1427N RMP908
Half Width - Rack Mount (Ventilated - Top & Bottom)
Panel Height Overall Dimensions Inside Height Accepts Pull Aluminum
Part Number Clearance With Weight Handle Chassis
Inches | Units Width Depth Chassis Installed Part Number | Part Number
RMCV9018BK 1 175 | 10 | 85 (216 mm) | 8.0” (203 mm) 0.81” (21 mm) 0.7# (0.3 kg) - RMP908
RMCV9038BK 1 350 | 2U | 85" (216 mm) | 8.0" (203 mm) 2.56" (65 mm) 1.5# (0.7 kg) 1427P RMP908
RMCV9058BK 1 525 | 3U | 85" (216 mm) | 8.0" (203 mm) 431" (109 mm) | 2.1# (1.0 kg) 1427N RMP908

RMCS & RMCV SERIES ACCESSORIES

Optional Aluminum Chassis Panel

Replacement Front & Rear Panels

* See tables above

 Link here to our web site for proper panels

CANADA
Guelph, Ontario (519) 822-2960
St. Laurent, Quebec (514) 343-9010
USA
Cheektowaga, NY (716) 630-7030

EUROPE
Basingstoke, UK 01256 812812

MlB
A"

AUSTRALIA

w,
WW/]
am
Mo
g,
’hfg -
‘Lo
Queenstown SA, Australia 61-8-8240-2244 m



8 | 7 | 6 | 5 ¥ 4 | 2 | 1
415.30 mm 1.80 mm
r [16.350 in] j [0'07&1 in]
B ¥
84.53 mm
[3.3281in]
SECTION FF-FF
T
. in 3.18 mm
7.94 mm @4.32 mm !
U ! - J [0.125 in]
S 04 mm [0.313in] GG /[0.170 in] i
[0.313in] |t s 5 //i T g
l 0000000000000 0000000000000000000000000000000000, I
T OOOO00OOO000000OOOOOOOOOOOOOOOOOOOOOOOOOOOOOOOC/S
0060009000000000006000800060006800000000060000066 55.56 mm
0000000000000 00000000000000000000000000000000000 [2188 |n]
0000000000000 000000000000O00000000000000000000000
000000000000000000000000'000000000000000000000000 l
0000000000000 0000000000000000000000000000000000
. _ . R 203.20 mm 196.85 mm
{ ® ® 1 [8.000 in] M [7.750 in]
FF 373.06 mm ‘ FF
[14.688 in] ‘
121.87 mm
[4.798 in]
I E | o 1 | i
GG~ R\V2U1908VBK
482.61 mm
[19.000 in] SECTION GG-GG Extruded Aluminum Frame - Type 6063
ASSEMBLY - VIEW FROM TOP 2 Parel§ -.064 Alumlnumll(5052-!-82) Powder Coat
HANDLE R3.18 mm 203.20 mm 2 Mounting Brackets - .125" Aluminum
MOUNTIN [0.125in] [8.000 in] 12 Screws - Flat Head 4-40 x 3/8"
o PR - 8 Screws - Counter Sunk Head 6-32 x 3/8"
<+ X# @® o 4 Screws - Counter Sunk Head 10-32 x 3/8"
76.20 mm %:i;or'i‘rr]‘]‘ 12 Nuts - #4 Speed Nuts
[3.000 in] . . ® . Four Self Adhesive Rubber Feet - 142173
Ress) @) ACCESSORIES
6.35 mm [40-3177 Qﬂir:]ﬂ] L PULL HANDLES 1427E1BK
[0.250 in] 466.10 mm .
(9635 ] ASSEMBLY - VIEW FROM SIDE HAMMOND
ASSEMBLY - VIEW FROM FRONT MANUFA CTUE]NG ™
Enclosures can be Factory Modified ( Milling, Drilling, Printing etc. ) A
Contact Factory  mjm@hammondmfg.com for quotes RM2U1908VBK
Solid models of this enclosure available in STEP or IGES.
waiw . ammondmig.com
8 7 6 I

5 7

4 I

2 I

1




